

Prove that $x \in \mathbb{R}$ converges series

$$\sum_{k=0}^{\infty} \frac{(-1)^k}{(2k)!} x^{2k} ?$$

$\lim_{k \rightarrow \infty} \frac{\frac{(-1)^k}{(2k)!} x^{2k}}{\frac{(-1)^k}{(2k)!}}$

$$2(k+1)$$

for all $x \in \mathbb{R}$
absolute convergence

$$\left| \frac{\frac{(-1)^{k+1}}{(2+2k)!} x^{2k} \cdot x^2}{\frac{(-1)^k}{(2k)!} x^{2k}} \right| = \left| \frac{-1 \cdot x^2 \cdot (2k)!}{(2+2k)!} \right| =$$

$$(2k)! \cdot (2k+1) \cdot (2k+2)$$

$$= \frac{x^2}{(2k+1)(2k+2)} \xrightarrow{k \rightarrow \infty} x^2 \cdot 0 = 0$$